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Topic  test  1i  Working  with  numbers  continued

PAR  T B 24 (2 marks) Estimate the answer to
13  free-response  questions  4' x 8 - 12o' (S"ow wor"g') )

60marks  '

Show  working  where  appropriate.

21 (12 marks)  Evaluate:  25 (2 marks)  Convert 7,' to an improper
a 18x20  fraction.

b 35 + 18 + 42 + 65 - . i26 (3 marks)  Fxnd 27.08  ,  4.

I
I

c -' x 270  27 (4 marks)  Complete:  "
2

16o =  (2 x o
,  22 x  I

=X

d 3x8x5

28 (12 marks)  Evaluate:  '
I

a -7 + 5 -  8 j

e 100-78

' b 3 + (-1) -  (-4)

' f O.25 x 64

c 4 + (-6) -. 2

22 (2 marks)  Round  7.86353  correct  to

three  decimal  places.

d (9-15)  x (-2)

23 (4 marks)  Find  the value  of:

a 9
14-10

e 42

b8
f 18 ". 3 + 4 x 2

f - l" ffiWe
M

i11 ' al 'l'i
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I (c !Xffi iWorking  with numbers
I ffl Time  allowed:  45 minutes.  Name:

ffl This  test  mav  be comnleted  without  the  aid  of  )

' a calculator.

', a Part  A: 20 multiple-choice  questions  (40 marks)

i a Part  B: 13 free-response  questions  (60 marks)
I
I Part  A  12 14.35-6.1 =

I 20multiple-choicequestions A 8-3 B E134
2 marks  each:  40 marks  C 8.25  D 8.24

Circle  the  correct  answer.  13 76.5 +  0.3 =

1.1  x 50 =  A 22.95 B 255
A o5  B  l  C 229.5 D 25.5
C 5 D 10 14 Simplify216, I

I 2 35 x 4  A s B 24A 170  B 140  15

I C 130 D 150 C '! D !  "
5 4I

i 3 80 +  5 =
I, A 40  B 4 15 27 x 12=
I A284  B294
I C 16  D 1.6
I C324  E314
i 4 336  + 16 =

I A 15  B 21 16 -'5 as a mixed  numeral  is:

: C 26 D 36 A2,B2o,  -
' 5 44x9=  3 6

i A 396  B 400  C 3!  D 2!
2 2

i C 404  D 406

I 6 139+39=  17 (1'5'=
I A 22.5  B 2.25

A 189 B 179 C 3o  D 3: C 168  D 178

I  B 2_ ,  2,
7 2 x (-3)a =  3 s

A 18 B -18 A !  B  _4
: C 36 D-36  '  "

I 8 2"=  C _1 D __l15 15

i A 25 B 10
C 32  D 64  '  "'  =

A -9 B -3

9 Between which two numbers does Jn lie? c 9 D 3
A 8 and 9 B 7 and 8

C 5 and 6 D 6 and 7 2o ' "  -7 a5 10

10 18 - [20 + (7-12)]  =  A 1 !  B _14
A'l  B 22  y ns
C 14  D 12  C a-' D !40 3

IN If  63 x 28 =  1l64,  then what  is the value  of
6.3 x O.28?

A 1.764  B  17.64

C O.1764  D 176.4

i Mffiai  ' . " i
ffa!m

"  ff  ""  "  ' am'  . 1!

- N
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Topic  test  1i  Working  with  numbers  continued

29 (2 marks) Find 15. x 29,.

30 (4 marks)  Use  a factor  tree  to find  the  value

of  ,,/m.

!
l

31 (4  marks)  Complete:

=  ,

I
=AXr_

I
=X

=_.  i

32 (4 marks)  Find  22.04  X 9.5.

I

33 (5 marks)  Bananas  cost  $3.40  per  kilogram.

Sonja  bought  1.3  kg  of  bananas.

a Calculate  the  total  cost  of  Sonja's

bananag,  correct  to the  nearest  5 cents.

b Calculate  Sonja's  change  if  she pays  for

the  bananas  with  a $10  note.

END  OF  TEST.

Use  the  rest  of  the  page  and  the  back  for

extra  working  space.
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[iJ6j  -Working  with  numbers %
aTimeallowed:45minuteg.  Name:  glX
a Tahis test  may  be completed  without  the  aid  of  _  _

a calculator.

a PartA:'20 multiple-choice questions (40 marks) ,,'1 >,:'l&<
,,1,>a Part  B: 13 free-response  questions  (60 marks)

Part  A  12 14.35 -  6.1 =

20 multiple-choice  questions  A '3  B '34

2markseach:40marks  %@8.25 n 8.24

Circle the correct answer. 13 76.5 + 0.3 = z Th S'y ,,,

s o,i X 50 =  A 22 .795 ("iiS 'B-/255- C 229.5  '- )  D 25.5
A O.5 B I

a5  D zo i4 Simplify 2,,16'
2 'i,5  X4=

T'iyo  4uo  A -8 B S
C 130 n 150 @=5'5 D !!4

3 $ -. 5 =  'I'
A 4o  B 4 15 27 x 12 = IZ

A 284  i 5 '  B 294
6 D 1.6  {  - 1,

1"  0324 -3% E 314
vl

33'6 " 16" "" %@1 16 'j  as amixednumeral is:, A 161 '  6

C 26 D 36 A 2,   B,

(5,%3x996= 3 6B 400 C 3% l  102§
C,404 D 406 17 ,5)2.  i.(;

1 . (, ir"'y
A 22.5  -'  v U3y.25, -1 ') -

6 12p + 39 =

IA,4189 B 179
c 168 1(nzys  C 3o '  D 3

7 2 X  (-3)2 :  18 '3 _ 2 == \l -' S'
) !O"l8'r  B-18 =5'?15,iI("tSA 5 i(  B "'1:

C 36 D -36 [OC_115 D __1B 25  ,1 & y' 15

A 25  "  -  B  10

D 64 19 'dp :_ -'i, - I:a. I  -.-,,/C,)32
A -9 - '  ,ai 3  (B  -3  ot

9 Be!f!Veen WhlaCh tO nllnlbers dOeS ii/"j2 he? ,:) C () qA" I) 3

{(5  and 9 B 7 and 8 %i ffj/' A , -: _170 _  -+ ,  _;, a:'  oz._, \ _,_,

to 'Ais A- atzod+6 (7"Ye:%0,22y/)D6a"d72:,,i'!Q,5 1!7 '-l ' B ;z
C 14  n 12  v/"- c -3% n 2j' A-, o t,.  4

II  If  63 X2,8_,-' 1  ,,_764then  what  is the value  of  ",rr
%i

iry6.3 x  O.28?

@h.ybr* B 17.64
C O.1764  D 176.4
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Topic  test  li  Working  wath  numbers  continued

PART  B 24 (2marks)Estimatetheanswerto $
13free-responsequestions (47x")- __o__l20.(Showwor'k_uok""

8howworkin:owmha'er"'eappropriate. 'a"5""'o"'offl'Zo
21 (12 marks)  E'yaluate:  '  25 (2 marks) Convert 7al to an imp':o'pe;

a 18 X 20 X ""18 fraction. 2  '-  52C)  -  i  i
/  -/  }

DO  4-  I

Z'7
b 35 + 18 $ 42 + 65 .26 (3 marks)  Ftnd  27.08  +  4.

ES  ,,

ffiZ70g7 X
.(  > (;, Y

-!ea2_ /
i LS  /  'F

/l

14  0
l

c
2 )_  27 (4 marks) Complete:

-fi  7
?-  "% , _-  /  r

l"  b '  i't  =2"x__'  l
3 16'(2x__dJo  I

- ff '  =_%3rx__'P  l
:%x8x5 +,)!lbzs(x-':tr'Y:"")'g7aiu'at!
'72-X  Ia '-7 + 5  8 i

e 1Q% - 78 -- "- - _ _" .7,__9 I%wp  -  7 ' 13  ,_-10  ,/ I
"'2._ ?- 7 b 3 + (-1) -  (-4)  '

f O.25 X 6;1 - := S-!l  A- "(

,z.V.. Th \ (,s = c,,
c 4 + (-6) -i- 2

2  4  -  o "  '

22 (2 marks) Round 7.86353 correct to :,,  a3 :/'
threedecimalplaces. ,  \

Tl , =3 (  %, X d (9 - 15) x (-2)

23 (4 marks) Find the value of: "  S7 '\ "'l_" -Z)Z
a 9 r<_q="-  ' 14-10

7 e 422 ',_-< s  = 12-'E)  _-4 _ ,-' l
i-5   s'  %
b8

' f  18+3+4x2

=(o-+?l
-44-

m -_ "   i  '.  - '  _ __  aa'W

l  '  - ' -' J  - . . __. _alff'  -  -  ' lallanl



Topic  test  li  Working  with  numbers  continued

-  -F  -  -=-  -

30 (4 marks  5 Use  a factor  tree  to fuid  the  value

,,  .,  z  4,/  '

31 (4  marks)  Complete:

I t "1.1

33 (5 marks)  Bananas  cost  $3.4X)  per  kilogram.  .

Sonja  bought  1.3  kg  of  bananas.

Calculate  the total  cost  of  Sonja's  ,  'S

bananas. correct to the 7atest 5 cents. ,,  D D

b Calculate  Sonja's  change  if  she pays  for

END  OF  TEST.

Use  the  rest  of  the  page  and  the  back  for

extra  working  space.


